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. Computer works with the help of many peripheral devices. Which one of the

following is an example of peripheral devices?
Mouse

Keyboard

Monitor

All of these

None of these

. Students and teachers can interact with each other from any part of the world

through video conferencing. One of the most important things that is required for
video conferencing is?

Joystick

Speakers

Scanner

Webcam

None of these

. As you know the monitor is an output device that resembles the TV screen and uses

a CRT to display information. The picture on a monitor is made up of tiny coloured
dots called _ .

Points

Pictures

Pixels

Spots

None of these

The files and folders containing data are called soft copy. Which one of the following
devices helps to change the data from soft copy to hard copy?

Keyboard

CPU

Monitor

Printer

None of these

The display device in modern monitors is typically a TFT-LCD based. What is the full
form of LCD?

Large Crystal Display

Light Circuit Display

Liquid Crystal Display

Liquid Circuit Display
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A)

None of these

Which one of the following printers uses the typewriting printing mechanism where
there is a mechanical contact between the print head and paper?

DeskJet printer

Dot-matrix printer

Laser printer

Thermal printer

None of these

. Given below are the statements about printer. Read them and identify the correct

statements.

Impact printers use the typewriting printing mechanism where there is a mechanical
contact between the print head and paper.

Inkjet and DeskJet are the example of impact printer.

Dot- matrix printer is the example of nonimpact printer.

1and 3

Only 1

1 and 2

All of these

None of these

Printers are divided into two categories. Impact printers and non impact printers. In
which one of the following categories do the dot-matrix and character printer come?
Impact printer

Non impact printer

Thermal printer

Both of them

None of them

. A microphone converts the sound received into the computer's format, which is

called digitized sound or digital audio. A microphone can be used only if the
computer has a special hardware known as __ card.

Audio

Video

Sound

Noise

None of these

A modem is a device attached to computers that can convert digital signal to analog
signal and vice versa. You know that modem word is a combination of two words.
Now select the correct combination of (modem) words from the following options:
Modifier: detoxifier
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13.

14.

Motivated : demotivated
Moved: removed
Modulator: demodulator
None of these

Read the given below statements and select the correct statements.

A computer can understand only the binary or machine language as it symbolizes
electric signals and the computer operates upon electricity.

Assembly language cannot be understood by the computer without the help of an
assembler.

High level language was designed to suit the requirement of the programmer hence
it cannot be easily understood by the computer.

Only 1

2and 3

1 and 2

All of these

None of these

Match the following:

A B

1. COBAL i. System programming
2. FORTRAN ii. Business problems
3. C++ ili. Scientific problems

1, iii; 2,05 3,1
1, ii; 2, iii; 3,1
1,i; 2,ii; 3, iii
1, ii; 2,1; 3, iii

1, iii; 2, i 3, ii

Which button is used to reduce a window to a small icon on the taskbar in notepad?
A) Maximize
B) Minimize
C) Close
D) Full close
E) None of these

Which among the following is a word processing software?

A) Paint

B) Wordpad

C) Notepad

D) Both (b) and (c)
E) None of these

15.

Which number system has only two digits 0 and 1?



A) Decimal

B) Binary

C) Integer

D) Whole number
E) None of these

16. Which one of the following is an example of operating system?
A) Microsoft Word

B) Microsoft Windows 10

C) Microsoft Excel

D) Microsoft Access

E) None of these

17. The IC chip used in computers is made of:
A) Silicon

B) Iron oxide

C) Silica

D) All of these

E) None of these

18. URL stands for:

A) Uniform Resource Locator
B) Uniform Resource Library
C) United Resource Location
D) United Resource Locator
E) None of these

19. An error in a computer program is called:
A) Crash

B) Bug

C) Power failure

D) Virus

E) None of these

20. The stored data from a RAM are lost when power goes off. Which type of memory a RAM is?
A) Volatile memory

B) Non-volatile memory

C) Read and memory

D) All of these

E) None of these

21. How can you link a web page in MS-Word 2013.
A) Hyperlink

B) Screen Tip

C) Grammar Error

D) All of these

E) None of these



22, A ___ can make it easier to play games.
A) Mouse

B) Joystick

C) Keyboard

D) All of these

E) None of these

23. The computer abbreviation KB usually means:
A) Kilobyte

B) Kilobit

C) Kernel boot

D) Key block

E) None of these

24. The ALU performs operations __ .
A) Logarithm

B) ASCII

C) Arithmetic

D) Algorithm base

E) None of these

25. Which programming language does not need a translator?
A) BASIC

B) High level language

C) Assembly language

D) Machine language

E) None of these

26. In order to delete a sentence from a document you would use:
A) Highlight and Copy

B) Cut and Paste

C) Copy and Paste

D) Select and Cut

E) None of these

27. Find odd one out.
A) Square

B) Triangle

C) Area

D) Rectangle

E) None of these

28. If 'Eraser’ is called 'Pencil’ and 'Pencil’ is called ‘Sharpened and 'Sharpened is called ‘Bag’,
what will a child write with?

A) Eraser

B) Sharpener



C) Pencil
D) Bag
E) None of these

29. Which one set of letters when sequentially placed at the gaps in the given letter series
complete it? o_ bbc_ aab_cca_ bbcc
A) bacb
B) acba
C) abba
D) caba
E) None of these

30. If in a certain language, KINDLE is coded as ELDNIK, how is EXOTIC coded in that code?
A) EXOTLC
B) CXOTIE
C) CITOXE
D) COXTIE
E) None of these

31. If A is to South of B and C is the East of B, in what direction is A with respect to C?
A) North-East
B) South-West
C) North-West
D) South-East
E) None of these

32. This is used for setting the margins of your document in wordpad:
A) Text area
B) Ruler
C) Cursor
D) I-beam
E) None of these

33. You may see icons on the taskbar which allow one click access to frequently used program.
What are these icons called?
A) Display launch
B) Quick launch
C) Display access
D) All of these
E) None of these

34. Set of instructions or commands given to the computer to complete the given work is
called:
A) Hardware
B) Software
C) Program
D) Both [b] and [c]



35.

36.

37.

38

39

40.

41.

E) None of these

Which of the following produces the best quality graphics reproduction?
A) Laser printer

B) Plotter

C) Ink-Jet printer

D) All of these

E) None of these

Which one of the following storage device can store the largest amount of data?
A) Hard disk

B) Compact disk

C) DVDs

D) All of these

E) None of these

Which software is used to process instructions and coordinate between devices?
A) Operating system

B) Control panel

C) Network interface

D) Web browser

E) None of these

- When you right click on a folder on the hard drive and choose delete, the files:

A) Move into recycle bin.

B) Go into the old document folder.
C) Are deleted permanently.

D) Both (b) and (c)

E) None of these

. A toolbar that contains buttons used for performing common actions in wordpad like

opening, saving or printing is called:
A) Title bar

B) Standard toolbar

C) Menu bar

D) Formatting toolbar

E) None of these

Laser printer is a type of:
A) Impact printer

B) Non-Impact printer

C) Both (a) and (b)

D) Plotter

E) None of these

CRT stands for:
A) Computer Ray Tube



42.

43.

44.

45.
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B) Cathode Ray Tube

C) Computer Radiation Tube
D) Computerised Ray Tube
E) None of these

In order to play and hear sound on a computer, one needs:
A) Sound card

B) Microphone

C) Speaker

D) Both (a) and (c)

E) None of these

What is required for video conferencing is:
A) Joystick

B) Printer

C) Scanner

D) Webcam

E) None of these

1/0 is short form of:

A) Input/Output

B) Income/Output

C) Incoming/Outcoming
D) Inner/Outer

E) None of these

Jenny, George and Sophia are discussing on the topic 'Computer Language'. Select whose
statement is correct.

Jenny: Computer peripherals understand only one language i.e., binary language.

George: No, computer peripherals can understand any language because it answers every
question.

Sophia: Computer peripherals can understand only alphabets and numbers.

A) Jenny is correct

B) George is correct

C) Sophia is incorrect

D) All are correct

E) None of these



